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Q1.           

Figure 2 shows a sketch of the graph with equation

The vertex of the graph is at the point P, shown in Figure 2.

(a)  Find the coordinates of P.

(2)

(b)  Solve the equation

(2)

A line l has equation y = ax, where a is a constant.

Given that l intersects  at least once,

(c)  find the range of possible values of a, writing your answer in set notation.

(3)

 

(Total for question = 7 marks)

 

 

Q2.           
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Figure 4 shows a sketch of the graph of y = g(x) , where

(a)  Find the value of gg(0).

(2)

(b)  Find all values of x for which

g(x) > 28

(4)The function h is defined by

h(x) = (x − 2)2 + 1       x ≤ 2

(c)  Explain why h has an inverse but g does not.

(1)

(d)  Solve the equation

(3)
 

(Total for question = 10 marks)

 

Page 2 

For more help visit our website https://www.exampaperspractice.co.uk/



 

Q3.           

Given

(a)   find an expression for gf(x), simplifying your answer.

(2)

(b)   Show that there is only one real value of x for which gf(x) = fg(x)

(3)

 

(Total for question = 5 marks)

 

 

Q4.           

(a)  Find gg(5).

(2)

(b)  State the range of g.

(1)

(c)  Find g−1(x), stating its domain.

(3)

 

(Total for question = 6 marks)
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Q5.           

The curve with equation y = 3 × 2x meets the curve with equation y = 15 − 2x+1 at the point P.

Find, using algebra, the exact x coordinate of P.

 

(Total for question = 4 marks)
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